TALEEMI DUNYA

Test Syllabus: Unit # 7( Properties of Matter )
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NOTE: Four possible answers A, B, C and D to each question are given. The choice which you think is correct, fill that circle in

front of that Question with Marker or Pen ink. Cutting or filling two or more circles will result in zero mark in that question.7

Young’s modulus of Nickel is. op S s Sl RS |
20x10°Nm? [ D) | 20 x 10°Nm? (C) | 200 x10°Nm? | B) | 200 x 10°Nm™ (A
The fourth state of matter is called: o EMS Al s (Sede | -2
Plasma L % | (D) | Gas 8 ©) | Liquid &l | B)|  Solid w5 (A)

The density of 500 gram stone having volume i3 (S a5 an 380 200 o) 5 S e el o) S 500 3

200cm® will be. (S|

45gcm? | (D) | 35gcm® (C) | 25gcm” | B) | 1.5gcm> (A)

S| unit of stress is: o U S S pu e e ST | 4
Nm [ (D) ] Ns © | Nm* [ B) ] Nm (A)

Our muscles are: 5
None Otfh:?e‘sﬁ s (D) | Inelastic <& ol | (O) Functional Jiiss | (B) | Elastic <sauws) (A)
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One litre is equal to: = A 6
10°m’ | (D) | 10°m’ © | 1000m™ | B) | 1kgem® (A)
Mercury is denser than water: e SR Sk | T
13.6 times | (D) | 13 times © | 12.5 times | B) | 10times (A)

2. Answer the following Question:

2x7=14) : e cll g paida S ¥ g B3 g 22

() State the Pascal’s law. - =S gl o SIS JSul ()

(ii) | On what factors pressure of a liquid depends? $ o ndale (S a8 iy Sl | (i)

(iii) | State Hook’s law. S g oS Sa | (i)

(iv) The mass of 200 cm’ of stone is 500 gram. Find its | &S - =500 g oS s S a5l 5 200 cm’ J—Q (iv)
density. S aslee (i

W) How kinetic molecular model of matter is helpful S8 S S S8 G e gsills osi8 (Sede | (V)
in differentiating various states of matter? § 2 Uign Cull (slae 7yl S oyl sl

(vi) | What is meant by Deforming force? $ ) pelS w Kaa i 53 | (vi)

(vii) 1Write two example of Applications of Pascal’s -0 (e 9 o (58 (S @B S (58 S Sy | (vil)

aw.
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Note: Attempt the question in detail.

(5+4=9) - 5 Qg2 (Asalli 8 Jl g i g3 1

Q: 3 (a) State Pascal law and explain the braking
system in vehicals.
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(b) A cube of glass of 5cm side and mass 306g, has
a cavity inside it. If the density of glass is
2.55 gem™ . Find the volume of the cavity.

Cg306£g whlse/}asécﬁﬁﬂdﬁ‘é@hﬁéiﬂuS ()
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